Set of test questions

for students of VI medical faculty
1. What research method in hygiene isn’t used for investigation of environmental factors?
A.
Clinical, physiological, psychological 

B.
 Microbiological

C.
Organoleptical

D.
 Biochemical

E.
Physicochemical

2. What research method in hygiene is used for investigation of human reaction on action of environmental factors?
A.
Biochemical 

B.
Physical

C.
Microbiological

D.
 Chemical

E.
Organoleptic
3. Wave-length  of ultraviolet rays is:

A.
200-400 nm

B.
More than 760 nm

C.
400-760 nm

D.
100-200  nm

E.
Less than 100 nm
4. Name the boundary of area B of ultraviolet radiation?

A.
280-320 nm 

D. 200-280 nm

B.
100-200 nm

E. 320-400 nm
C.
10-100 nm

5. Name the boundary of area C of ultraviolet radiation?

A.
 200-280 nm

D. 10-100 nm

B.
100-200 nm

E. 320-400 nm 
C.
200-280 nm 

6. Name erythemic dose of UV-radiation if physiological dose is 3 min?

A.
6 min

D. 8 min

B. 
2 min

E. 1 min 

C.
4 min

7. Sources of UV radiation are used for children irradiation with purposes of improvement their health and diseases prophylaxis. What artificial sources of UV radiation don’t use for this purposes?

A. Bactericidial lamps

B. Direct mercury quarts lamp 

C. Erythemic lamps – 15 

D. Erythemic lamps – 30

E. Argon – quarts lamp

8. What artificial sources of UV radiation are used for air sterilization in operating rooms?

A. Bactericidal lamps 

B. Direct mercury quarts lamp 

C. Erythemic lamps – 15

D. Erythemic lamps – 30

E. Argon – quarts lamp
9. Name the boundary of visible sun rays?

A.
400-760 nm

D.  280-320 

B.
100-200

E.  320-400

C.
200-280

10. Name devise for measurement of light intensity.

A.
Luxmeter 

B. 
Spirometer

C.
Biodosimeter

D.
Catatermometer

E.
Fotocalorimeter

11. What parameter of natural light is measured by geometrical method?
A.
 Light coefficient, angle of opening, angle of incidence
B.
Light current 

C.
Sunniness 

D.
 Coefficient of natural lightning

E.
Light energy

12. What from the listed parameters of natural illumination is measured by technical method?

A.
Coefficient of natural lighting

B.
Angle of incidence

C.
Angle of opening

D.
Light coefficient

E.
Coefficient of embedding
13. Point on the unfavorable property of the luminescent lamps?

A.
Stroboscope effect, danger of mercury diffusion, monotonous noise 

B.
Low brilliance 

C.
 Spectrum as a natural light

D.
Low light return

E.
Diffuse light

14. What should be minimal value of an angle of opening on a working place in the class-room?

A.
5 °

D. 17 °

B.
15 °

E. 27 °

C.
10 °

15. What should be minimal value of an incidence angle of light beams on a working place in the class-room?

A.
27 °

D. 25 °

B.
17 °

E. 15 °

C.
20 °

16. Point on the minimum level of artificial lighting with using of the bulb lamps in kitchen?
A.
30 lux

D. 50 lux

B.
100 lux

E. 150 lux

C.
20 lux

17*. There are two windows in the room. The height of window is 2 m, width is 1,5 m. Area of flour is 36 m2. What light coefficient is in this room?

A. 1/6

D. 1/4

B. 1/3

E. 1/7
C. 1/5

18. In the class-room of secondary school level of natural light is 300 lx. At the same time level of natural light outside is 6000 lx. What coefficient of natural light is?

A. 5 %

D. 0.5 %

B. 1 %

E. 10 %

C. 2 %

19. A student must estimate microclimatic parameters in a classroom. What index from lover listed should not be determined, because it does not belong to the factors of the microclimate?

A.
Dustiness of air

B.
 Radiation temperature of surfaces

C.
Atmospheric pressure

D.
Relative air humidity

E.
 Velocity of air movement

20. What maximal horizontal difference of tempe​rature is supposed in rooms?

A.
2-3 oC 


D.
0.2-0.5oC

B.
0.5-0.8 oC

E.
4-4.5 oC

C.
1-1.5 oC

21. What maximal difference of temperature is supposed in rooms within 24 hours?

A.
5-6 oC 


D.
2-3 oC

B.
0.5-0.8 oC

E.
0.2-0.5oC

C.
1-1.5 oC

22. Which parameter of temperature regimen doesn’t exist?

A.
diagonal difference of temperature

B.
average temperature 

C.
horizontal difference of temperature

D.
daily difference of temperature

E.
vertical difference of temperature 

23. What device can’t be used for measurement of relative humidity of air?
A.
Piranometer, catathermometer, barograph

B.
Psychrometer of August

C.
Hygrograph 

D.
Film hygrometer

E.
Assmann aspirative psychrometer

24. For study the effect of microclimate on human organism it is necessary to organize a systematic observance of relative humidity during several days. Choose an apparatus, which allows doing  it the most exactly:

A.
Hygrograph 

B.
Catathermometer

C.
Thermograph

D. Anemometer

E.
August psychrometer

25. For study the effect of microclimate on human organism it is necessary to measure atmospheric pressure during several days. Choose an apparatus, which can be used in this case:

A.
Barograph 

B.
Catathermometer

C.
Thermograph

D. Psychrometer

E.
Hygrograph 
26. During sanitary inspection of hostel determination of air movement was done. What devise is used for measurement of air movement’ velocity indoors?

A.
Catathermometer 

B.
Anemometer 

C.
Spirometer

D. August psychrometer

E.
Hygrograph
27. During the sanitary inspection of hospital determination of air movement was done. What device is used for measurement of air velocity movement outdoors?
A. Anemometer 

B. Dynamometer

C. Catathermometer 

D. Hydrometer

E. Spirometer

28. What optimum air temperature should be in kitchen of hostel?
A.
18 °C 

D. 25°C

B. 22°C

E. 26°C

C.24°C

29. What optimum air temperature should be in bath room or shower-stall?
A.
25 °C

D.
27°C

B.
22°C

E. 18°C

C. 20°C

30. Name minimum allowable relative humidity of air in rooms in cold and transitional seasons of year?
A.
Not less 30% 

B.
Not less 50%

C.
Not less 70%

D.
Not less 45% 
E.
Not less 20%

31. Name maximum allowable relative humidity of air in rooms in warm season of year?
A.
Not more 60%

B.
Not more 80%

C.
Not more 50%

D.
Not more 45%

E.
Not more 35%

32. Name maximum allowable relative humidity of air in rooms in cold season of year?
A.
Not more 45%

B.
Not more 80%

C.
Not more 50%

D.
Not more 60%

E.
Not more 35%
33. Name allowable velocity of air movement in inhabited premises in a cold season?

A.
Not more 0.3 m/c 

B.
Not more 0.5 m/c

C.
Not more 0.7 m/c

D.
Not more 1 m/c

E.
Not more 2 m/c

34. The hygienic estimation of work’s conditions of a registry shows: air temperature on a workplace is +20oC in warm period, relative humidity is 22%, velocity of air movement is 0.25 m/s. What should be done to normalize a microclimate on the workplace?

A. Decrease the relative humidity 

B. Decrease the air temperature

C. Increase the relative humidity

D. Decrease the velocity of air movement

E. Increase the velocity of air movement
35*. It is known, that in city N the predominated wind is east one. Where chemical factory must be placed regarding  the living zone of city?
A.
In west direction

B.
In north direction

C.
In south direction

D.
In south-east direction 

E.
 In east direction

36. If the predominated wind is west one, where residential zone must be placed regarding chemical factory?
A.
In west direction

B.
In north direction

C.
In south direction 

D.
In east direction

E.
In south-east direction 

37. Name the maximum permissible concentration of C02 in living room ?
A.
0.1%

D. 0.3%

B.
0.15%

E. 0.5%

C.
0.2%

38. Name the optimum concentration of C02 in living room ?
A.
0.07%

D. 0.3 %

B.
0.1 %

E. 0.5 %
C.
0.05 %

39. What reagents are used for determination of C02 in air?
A.
Na2C03 and phenolphthalein 

B.
H2S04 and Tilman's reagent

C.
NaHC03 and methyl orange 

D.
 BaCl2 and methyl orange

E.
Na2S04 and phenolphthalein 

40.Which method had to be used for determination of C0 content in atmospheric air?
A.
Visual colorimetry  
D. Sedimentation

B.
Titration

E. Oxidation

C.
 Nephelometry

41. Name the maximum permissible concentration of lead in air of working zone?
A.
0.01 mg/m3

D. 5.0 mg/m3
B.
0.5 mg/m3

E. 0.05 mg/m3
C.
1.0 mg/m3
42. Name the maximum permissible concentration of ammonia in working zone?
A.
20 mg/m3

D. 5 mg/m3
B.
10 mg/m3

E. 10.0 mg/m3
C.
1 mg/m3
43. Name the instant method of dust sample taking.

A.
Method of aspiration 

B.
Micrometric method 

C.
Weight method

D.
Determination of dust disperse

E.
 Method of sedimentation
44.  Name the method of dust sample taking which demands of prolonged time

A.
Method of sedimentation 

B.
Micrometric method 

C.
Method of aspiration

D.
Weight method

E.
Determination of dust disperse
45. Name the qualitative method of dust investigation in air.

A.
Weight method 

B.
Method of sedimentation

C.
Method of aspiration

D.
Method of filtration

E.
Determination of dust disperse 
46. What kind of dust from the lower listed has the most allergic action on the human body?

A. Chromium dust

B. Cement dust

C. Silicate dust

D. Coal dust

E. Ferrous dust
47. What kind of dust from the lower listed has the fibrogenic action on the human body?

A. Silicate dust

D. Coal dust

B. Cement dust

E. Ferrous dust
C. Chromium dust

48. What kind of pneumoconiosis the most probably may appear at miner, who works as engine-driver of coal combine?
A.
Pulmonary antracosis 

B.
 Byssinosis

C.
Silicosis

D.
 Asbesthosis

E.
Siderosis
49. What marginal level of noise is established in working zone of physical work?
A.
60 decibel

B.
90 decibel

C.
80 decibel

D.
70 decibel

E.
100 decibel
50. Which symptom isn’t related to vibration illness?
A.
Arrhythmia 

B.
 Vegetative polyneuritis

C.
Angiospastic syndrom

D.
 Vegetative myositis

E.
Neurocirculatory disturbance

51. What occupational disease can appear under long influence of direct sun rays?
A.
Sun stroke

B.
Over heating

C.
Convulsion disease

D.
Heat stroke 

E.
Caisson disease
52. What occupational disease appear under action of high air temperature and low air humidity?
A.
Convulsion disease 

B.
Sun stroke

C.
Heat stroke

D.
Over heating

E.
Caisson disease
53. What measure isn’t necessary for sampling water from a water pipe for bacteriological analysis?

A. Passing water through filter, preservation, use of hygrometer
B. Flaming of water tap before sampling

C. Pouring of water from water tap during 15 min

D. Sampling some air with the water

E. Use a sterile laboratory utensils 

54. What measure is obligatory for sampling water from a water pipe for bacteriological analysis?
A. Flaming of water tap before taking sample 

B. Taking sample of water right away after opening of water tap

C. Using batometer

D. Using a sterile medical gloves 

E. Passing water through filter

55. How is intensity of smell normalized for drinking water at the decentralized water-supply?

A.
Not more 3 points

B.
Not more 2 points

C.
Not less 2 points

D.
Not normalize

E.
Not less 3 points

56. What index from the lower listed doesn’t characterize mineral composition of water? 

А. Oxidation, smell, coli-titer, feculence 

В. Carbonic hardness

С. Chlorides contain 

D. Sulphates contain

E. General hardness

57. The mine well is used for drinking purposes. What parameter of its equipment is not satisfying hygienic requirements? 

А. Water is taken by individual pails 

В. Height of framework over the ground is lm

С. Well has lid

D. The walls of well are watertight

Е. Well has enclosure

57. Tooth decay morbidity among people living in town N is 89%. They drink water containing 0,01 mg/dm3 of fluorine. What prevention could you advise?

А: Water fluorination 

В: Inhalation of fluorine

С: Brushing teeth with fluorine-content tooth-paste

D: Use vitamins

Е: Eat more vegetables

58. What index from the lower listed doesn’t characterize organic pollution of water? 

А. Content of iron, aftertaste

В. Content of ammonia 

С. Content of nitrites 

D. Content of nitrates

E. Oxidation 

59. Point direct index of water organic pollution of animal origin.

А Coli-index

В. Microbial number

С. Content of nitrates

D. General hardness

E. Content of ammonia
60. What set of indices can be used for determination of remoteness (time) of organic water pollution?

А. Ammonia, nitrites, nitrates 

В. Color, nitrates, smell 

С. Chlorides, zinc, taste

D. Feculence, ammonia, chlorides

E. Iron, ammonia, color

61. What mean of index from the lower listed is characterized for fresh pollution of water?

А. Content of ammonia more than 0.1 mg/dm3 

В. Quantity of color more than  25o
С. Content of chlorides more than 20 mg/dm3
D. Content of nitrates more than 15 mg/dm3
E. Transparency more than 35 cm

62. What mean of index from the lower listed is characterized for intermediate pollution of water?

А. Content of nitrites more than 0.002 mg/dm3 

В. Feculence more than 1.5 mg/dm3
С. Content of chlorides more than 350 mg/dm3
D. Coli-titer less than 200 ml

E. Taste more than 3 points
63*. Residential area uses drinking water from the lake. According the results of the analysis smell and taste — 2 points, general hardness – 5,5 mmol/dm3, fluorine – 1,1 mg/dm3, coli-index - 6. What water treatment should they to use?

A. Disinfection 

B. Coagulation

C. Fluorination

D. Deodoration

E. Softening 

64*. People of village use drinking water from the well. The well has old wooden moss-grown frame work. Laboratory analysis shows that microbial number is 500, oxidation – 9 mg/m3. Make up the conclusion about water quality.

A. Water is polluted by organic substances of vegetable origin 

B. Water is polluted by human feces 

C. Water is polluted by viruses 

D. Water  pollution is absent

E. Water is polluted by minerals
65*. It is planned to build local water-pipe on the base of underground water source. Analysis of water: smell — 2 point, taste — 2 points, fluorine — 1.3 mg/dm3, general hardness — 7 mmol/dm3, iron 1.2 mg/dm3, ammonia 0.3 mg/dm3. What method of water treatment should be used? 

А. Desironing 

В. Disinfection

С. Defluorination 

D. Fluorination 

Е. Demineralization

66. What peculiarity of water does influence dose of aluminium sulphate in the most degree? 

А. Carbonic water hardness 

В. Oxidation

С. General water hardness 

D. Water temperature

Е. Color quantity
67. Name the main filtrate material for filtration of water in water purification station? 

А. Quartz sand 

В. Ion-exchange resin

С. Biopolymer film 

D. Fabric

Е. Activated carbon
68. Name the physico-chemical process with formation of flakes for absorption of chemical pollutants from water. 

А. Coagulation 

D. Sedimentation

В. Filtration


Е. Decoloration
С. Clarification

69. Concentration of active chlorine in chloric lime doesn’t depend on: 

А. Content of CO2 in air 

В. Content of O2 in air

С. Retention time 

D. Air humidity

Е. Action of sun rays

70. Point maximum level of residual chloride in drinking water provides  its effective disinfection? 

А. 0.5 mg/dm3 

D. 1.0 mg/dm3
B. 0.3 mg/dm3

Е. 1.5 mg/dm3

С. 0.1 mg/dm3 
71. Which method isn’t used for water disinfection? 

A. Treatment by aluminium sulfate, calcium sulphate 

B. Ozone-treatment

C. Treatment by calcium hypochloride

D. Ultraviolet irradiation

E. Treatment by “Halazone” tablets
72. Which kind of water hardness doesn’t exist?

А. Chloric 

D. Constant 

В. General 

E. Removal

С. Carbonic

73. What disease isn’t water-born?

A. Pellagra 

B. Poliomyelitis

C. Cholera

D. Amebic dysentery

E. Lambliasis

74. What disease from the lower listed is not transfer with soil?

A.
 Diphtheria, anemia 

B.
Anthrax

C.
Gas gangrene

D.
 Botulism

E.
Tetanus

75. What property of soil isn’t taken into account at hygienic estimation?

A.
Acidity, quantity of color, electroconductivity 

B.
Humidity

C.
Water capillary

D.
 Air penetration

E.
 Porosity

76. What chemical reagent (from lower listed) is not coagulant or phloculant? 

А. Activated carbon 

В. Iron chloride 

С. Iron sulphate 

D. Iron hypochloride 

Е. Aluminium sulphate

77. What drink is not recommended for supper?
A.
Chocolate cocktail, tea

B.
Tomato juice

C.
 Yoghurt
D. Apple juice

E. Milk

78. To which group of work intensity does miner belong?
A.
4

D.  5

B.
2

E.  1

C.
3
79. To which group of work intensity does coach belong?
A.
1

D.  5

B.
2

E.  4
C.
3
80. How many of proteins in the nutrition of adults must belong to proteins of animal origin?

A.
55%


D.30%

B.
75%


E. 20%

C.
80%

81. Name  the optimum share of fats in the nutrition

A.
25-30% 

B.
11-13%

C.
50-55%

D.
5-10%

E.40-50%

82. Nutrition of adult person consist of 12% proteins, 40% fats, 47% carbohydrates (by weight). Does such nutrition correspond with hygienic rules?

A.
Too many fats, not enough of carbohydrates 

B.
Too many fats, not enough of proteins

C.
Too many carbohydrates, not enough of proteins

D.
Too many proteins, not enough of fats

E.
Nutrition correspond with hygienic rules

83. What is minimal norm of daily consumption of vitamin C for adult man?
A.
80 mg

B.
60 mg

C.
70 mg

D.
50 mg

E.
100 mg
84. What food consist a lot of vitamin B1
A.
Cereals and beans
D. Eggs

B.
Potato, beet

E. Cabbage, onion 
C.
Dairy product
85. What is food source of vitamin D?

A. Cod liver 

B. Cereals

C. Cabbage

D. Citrus

E. Cheese
86. What disease can course in the case of vitamin C insufficiency?
A.
Scurvy

D. Pellagra

B.  
Obesity
E. Angular stomatitis

C.
Rachitis

87. What disease can cause in the case of vitamin B1 insufficiency?
A.
Polyneuritis 

B.
Scurvy

C.
Rachitis

D.
Pellagra

E.
Obesity

88. Nutrition of girl 17 years old consist of: vitamin A – 1.5 mg, D – 3 mcg, B2 – 0.6 mg, PP – 16 mg, C – 85 mg. Girl complaints of helyosis, glossitis, angular stomatitis, conjunctivitis. What is your diagnosis?
A. Hypovitaminosis B2

B.
Hypovitaminosis D

C.
Hypovitaminosis A
D. Hypovitaminosis C
E. Hypovitaminosis PP
89. What device is used for definition of milk density?

A.
 Lactodensimeter
D. Batometer

B.
Spirometer

E. Butirometer

C.
Hygrometer 

90. What method is used for definition of milk acidity

A.
 Spectrometry

D. Titration

B.
Butirometry 

E. Colorimetry
C.
Anemometry 
91. What method is used for determination of milk purity

A.
 Filtration

D. Titration

B.
Butirometry 

E. Colorimetry
C.
Anemometry 

92. What mean of density from the lower listed is characterized for fresh cow milk?

A.
1.028-1.032

D. 3-5 

B.
1.015-1.025 

E. 10-12

C.
0.970-1.150
93. What mean of acidity from the lower listed is characterized for sour milk?

A.
26-30 °

D. 18-20 °

B.
13-15 °

E. 16-18 °

C.
10-12 °

94*. It is necessary to estimate the quality of milk at results of analysis: color – whitish, smell and taste – without peculiarities, density – 1.028, acidity - 18(T, fat – 3.2 %.

A.
 Milk is of good quality




B.
Milk is of decreased quality


C.
Milk is conditionally suitable 
D. Milk is of poor quality

E. Milk is adulterated
95. Which reagents are used for determination of such adulterating substances as soda and starch in milk?
A.
Rosolic acid and potassium iodine 

B.
Sodium carbonate and phenolphthalein

C.
Eber’s reagent and lead acetate

D.
Tilman’s reagent and sulphuric acid

E.
Barium nitrite and hydrochloric acid
96. What equipment is used for definition of bread humidity?

A.
Drying oven 

D. Spectrometer

B.
Stroboscope

E. Lactodensimeter
C.
Butirometer

97. What mean of acidity from the lower listed is characterized for wheaten bread?

A.
3 °


D. 5 °

B.-14 °


E. 7 °

C.
20 °

98. What mean of acidity from the lower listed is characterized for rye-bread?

A.
11-12  °


D. 18-20°

B.
3-4 °



E. 7-8 °
C.
5-7°
99. What mean of porosity from the lower listed is premised for rye-bread?

A.
Not less 48 % °
D. Not less 20 °

B.
Not less 60 %

E. Not more 35 % 
C.
Not more 85 %

100. What maximal mean of humidity is permissible for rye bread?

A.
51%

D.
20%

B.
32%

E.
65%

C.
48%
101. The sample of rye bread was analyzed. The results of the analysis: surface – smooth, crumb – elastic,  porosity — 53%, humidity — 55%, acidity – 9o. What index of bread quality does not satisfy hygienic rules?
A.
State of surface 

D. Humidity

B.
 State of crumb

E. Acidity
C.
Porosity

102. Group of mycotoxicoses doesn’t include: 

A. Botulism 

B. Ergotism

C. Fusariotoxicosis

D. Aflatoxicosis

E. Penicillum poisoning

103. What kind of food poisoning mostly is connected with consumption of confectionery with cream?

A. Staphylococcal toxicosis

B. Fusariotoxicosis

C. Aflatoxicosis
D. Botulism

E. Ergotism

104. What kind of food poisoning may be connected with consumption of tinned food products?

A. Botulism

B. Staphylococcal intoxication

C. Food toxicoinfection

D. Fusariotoxicosis 

E. Alimentary paroxysmal-toxic myoglobinuria

105. What kind of food poisoning may be connected with consumption of grain products?

A. Fusariotoxicosis 

B. Staphylococcal intoxication 

C.Alimentary paroxysmal-toxic myoglobinuria

D. Botulism

E. Food toxicoinfection 

106.  What index from the lower listed applies to somatoscopic method of study of physical development?

A. Form of the feet, elasticity of skin, form of the thorax

B. Stature upright

C. Weight

D. Circumference of the thorax

E. Stature sitting

107. What index from the lower listed applies to physiometrical method of physical development study?

A.
 Vital capacity of lungs, arterial pressure

B.
Stature upright

C.
Development of musculature

D. Extent of sexual development

E. Circumference of head

108. What index from lower listed applies to somatometric method of study of physical development?

A.
 Circumference of the head, weight

B.
Muscular strength

C.
 State of the bone-muscular system
D. Form of feet


E.Vital capacity of the lungs

109. What device can be use for measurement of stature of infants?

A.
Horizontal heightmeter 

B.
Spirometer 
C.
Dynamometer
D. Tape-liner

E. Metallic anthropometer 
110. What device can be use for stature measured in sitting position?

A.
 Wooden heightmeter


B.
Large compass
C.
Metallic anthropometer
D. Horizontal heightmeter

E. Dynamometer
111. What device can be use for measurement of muscular strength of hand?

A.
 Densimeter



 

B.
Dynamometer 



C.
Metallic anthropometer

D. Anemometer 

E. Spirometer
112. What device can be use for measurement of muscular strength of back?

A.
Hand dynamometer 

B.
  Densimeter

C.
 Anthropometer
D. Torso dynamometer

E. Spirometer
113. How often should physical development be checked for infants?

A. Monthly 

D. Each 3 months 

B. Weekly

E. Twice a year
C. Once a year

114. What age interval takes into account for formation of age groups of before preschool children when you estimate physical development?

A.3 months

D.9 months
B.1 months

E.12 months
C.6 months
115. How often should physical development be checked for preschool children?

A. Each 6 months
D. Monthly

B. Each 9 months

E. Once a year
C. Each 3 months
116*. Estimation of physical development of the teenager by the "sigmal deviation" method shows that his stature deflects from the standard value on +2.4 σ. How should the stature of the teenager be estimated?

A.
Tall


D. Under average

B.
Above average
E.  Short

C.
Average

117*. Estimation of physical development of child was done by the method of “Regression scale”. Results of estimation show variations of all his parameters are limited in M ± 1.4 (R. Make up the conclusion about physical development of this child.

A. Physical development of child is sharply disharmonic

B. Physical development is harmonic 

C. Physical development corresponds to age

D. Physical development is average

E. Physical development is disharmonic

118. What group of health has child suffering from acute respiratory diseases 3 times a year?

A.
1


D.  2
B.
4


E.  5
C.
3

119. What group of health has child, who suffer from chronic disease in stage of subcompensation?

A.
4


D.
1
B.
5


E.
2
C.
3
120. What group of health has child, who suffer from chronic disease in stage of decompensation?

A.
5

D. 1
B.
4

E. 2

C.
3

121.Name a radius of school service for pupils of 1-3 forms?

A.
500 m
B.
200 m

С. 
 700 m
D. 1000 m
E. 1500 m 
122. What should be maximum percentage of building area on the plot of the secondary school? 

A. Not more than 12%

B. Not more than 50%

C. Not more than 18%

D. Not more than 25% 
E. Not more than 30%
123. Name the minimum percent of school site under area of green plantations.

A.
45%



D. 50%
B.
30%



E. 60%
C.
25%
124. What should be the minimal area in a class-room of a secondary school?

A.
50 m2



D. 60 m2
B.
40 m2



E. 70 m2

C.
30 m2

125. Name the minimum of area of doctor’s consulting room in the secondary school.

A.
12 m2

D.  20 m2
B.
50 m2

E.  40 m2
C.
30 m2
126. Name the minimum area of teachers’ office in the secondary school.

A.
24 m2

D.  66 m2
B.
30 m2

E.  12 m2
C.
55 m2
127. Name the minimum calculated air tempera​ture in the cloak-rooms for gymnasiums in the secondary school.

A.19°C 

D.20°C 

B.17°C 

E. 22°C
С.23°С 

128. Name the minimum calculated air temperature in workshop in the secondary school.

A.15°C 

D.21°C 

B.17°C 

E. 22°C
С.19°С 

129. Name the maximum number of classes per five-day week for 4th form.

A.22 

D. 27 

B.25 

E. 20
С.29 

130. One of main tasks of psychohygiene:

A. Studying of environment factors influence on the human organism, working-out standards of psychological functions development 

B. Introduction of an optimum impellent mode

C. Vocational counselling

D. Carrying out of time-studying supervision

E. Use of nonconventional forms of physical training

131. At carrying out of psychohygienic researches are investigated:

A. Motivation direction, temperament attributes 

B. State of health

C. Mood

D. Age and sexual features

E. Adequacy of a self-estimation

132. Psychical health is characterized by:

A. Harmonicity of psychical development and its age correspondence, Level of intellectual efficiency development, acceptable functioning of CNS 

B. Presence of good mood

C. Stability of mood

D. Absence in the anamnesis of mental diseases

E. Preservation of working capacity
133. To leading properties of temperament doesn’t relate:

A. Short-time memory, long-term memory, impulsiveness 

B. Extraversion

C. Intraversion 

D. Emotional excitement

E. Rigidity of nervous processes

134. The temperament is

A. The way of emotional reactivity 

B. Features of the person’s mood

C. The characteristic of mental health

D. The characteristic of a physiological state

E. The characteristic of a mental state

135.Synchronization of the organism vital activity is:

A. Increase of an attention’s level

B. Improvement of mood

C. Coincidence of both the organism and environment rhythms, ability of CNS to provide interaction of organism periodic functions 

D. Normalization of a mode of a sleep and wakefulness

E. Process of increase of working capacity

136. Under influence of what factors doesn’t biorhythm’s change occur?
A. Changes of mood, irrational nutrition


B. Influence of stressful factors

C. Mental loadings

D. Factors of an urbanization 
E. Change of time zones
137. High frequency rhythms  are the biorhythms with period:
A. From milliseconds to 30 minutes

B. From 30 minutes to 28 hours

C. From 28 hours to 20 days

D. From 20 days to 1year

E. From 1 year to decades

138. Biorhythms of the middle frequency are the biorhythms with period:

A. From 30 minutes to 28 hours

B. From milliseconds to 30 minutes

C. From 28 hours to 20 days

D. From 20 days to 1year 


E. From 1 year to decades
139. Mesorhythms are the biorhythms with period:
A. From 28 hours to 20 days inutes

B. From 30 minutes to 28 hours

C. From milliseconds to 30 m

D. From 20 days to 1year

E. From 1 year to decades
140. Macrorhythms are the biorhythms with period:
A. From 20 days to 1year


B. From 30 minutes to 28 hours

C. From milliseconds to 30 minutes 

D. From 28 hours to 20 days.
E.  From 1 year to decades
141. Megarhythms are the biorhythms with period:

A. From 1 year to decades;

B. From milliseconds to 30 minutes;
C. From 28 hours to 20 days;

D. From 20 days to 1year;

E. From 30 minutes to 28 hours;

142. To what group of biorhythms does daily mode of work capacity concern?

A. Middle frequency rhythms  

B. High frequency rhythms

C. Mesorhythms
D. Macrorhytms
E. Megarhythms
143. To what group of biorhythms does concern pulse and respiratory rate?

A. High frequency rhythms

B. Middle frequency rhythms 

C. Mesorhythms 

D. Macrorhytms 

E. Megarhythms

144. “Desynchronosis”  is:

A. Kind of chronopathology, disorders of  biorhythms  

B. Improvement of a physical  state

C. Process of treatment of chronic diseases

D. Infringement of characteristics of the person

E. Decrease in efficiency of treatment 
145. What name has drawing of building plot, where projected buildings are represented?

A.
General plan 

B.
Situational plan

C.
Multi - stored plan

D.
Drawing of front (facade)

E.
Drawing of vertical plan

146. What is name of drawing of building plot, where part of settlement with place for projected building is represented?

A.
Situational plan

B.
General plan

C.
Multi - stored plan

D.
Drawing of front (facade)

E.
Drawing of vertical plan
147. What name has drawing of building plot, where projected wards are represented?

A.
Multi - stored plan 

B.
Situational plan

C.
General plan 

D.
Drawing of front (facade)

E.
Drawing of vertical plan 
148. Where the "wind rose " must be draw?

A.
On the general and the situational plan of the hospital 

B.
 On the drawing of front of building

C.
On the drawing of vertical plan of building

D.
On the ward section plan

E.
On the multi - storied plan of building

149. Name the minimum area of plot for 1 bed on the territory of 400 - 800 beds in hospital.

A. 80 m2 

D.120 m2 

B.200 m2 

E. 50 m2

C.140 m2
150. Name the minimum area of plot for 1 bed on the territory of 200 - 400 beds in hospital.

A. 100 m2 

D. 300 m2 

B. 200 m2 

E. 80 m2
C. 140 m2 

151. Name the minimum area of plot for 1 bed on the territory of 50 - 100 beds in hospital.

A. 200 m2 

D. 120 m2 

B. 400 m2 

E.  80 m2

C. 140 m2 

152. Name the minimum area of plot for 1 bed for the hospital territory for 45 beds.

A. 300 m2 

D.120 m2 

B.200 m2 

E. 80 m2

C.140 m2
153. What depth of underground water is permissible on the hospital territory?

A.
Not less 1.5 m 

D. Not less 1.0 m

B.
Not less 0.7 m

E.  Not less 0.5 m
C.
Not less 0.9 m

154. The hospital contains from the principal building consist of surgical and therapeutic department and some little buildings for infectious, maternity and child departments. What is system of hospital building?

A. Mixed system

B.
Centralized system

C.
Centralized-block system 

D.
Decentralized system

E.
Block-mixed system

155. Name the system of hospital planning when all departments are located in the same building. 

A. Centralized system 

B.
Centralized-block system 

C.
Block—mixed system 
D.
Decentralized system

E.
 Mixed system 
156. Name the distance of hospital on the 1000 beds from the living zone of city.

A.
Not less 1000 m 

B.
Not less 500 m

C.
Not more 500 m

D.
Not more 1000 m

E. 
Not more 1500m

157. Name the maximum percentage of plot of land under building on the hospital territory.

A.
15%


D. 20%

B.
10%


E. 25%

C.
5%

158. Name the minimum percentage of green plantation on the territory of hospital.

A.
60%


D. 30%

B.
40%


E. 70%

C.
50%

159. Name the minimum area of garden and park zone for 1 bed on the hospital territory.

A.
25 m2
B.
20 m2
C.
35 m2
D.
30 m2
E.
40 m2
160. Name the minimum width of protective green strip on perimeter of hospital territory.

A.
15 m

B.
30 m
C. 40m

D.
20 m

E.
60 m
161. Name the minimum distance between medical building and “red line”.

A.
30 m

B.
15 m
C. 25m

D.
20 m

E.
35 m

162. Name the minimum distance between medical building and economic zone.

A.
50 m

D. 30 m

B.
40 m

E. 60 m

C. 50m
163. Name the minimum distance between non-infectious medical building and infectious department

A.
30 m

B.
20 m
C. 
40m

D.
50 m

E.
60 m

164. Name the minimum distance between medical building and zone of polyclinic

A.
50 m

B.
30 m
C. 
40m

D.
20 m

E.
60 m

165. Name the minimum distance between medical building and zone of morgue

A.
30 m

D.
50 m

B.
20 m

E.
60 m

C. 
40m

166. Name the maximum level of noise on the territory of hospitals (medical-preventive establishments) at night.

A.
Not more 30 dB A

B.
Not more 35 dB A

C.
Not more 40 dB A

D.
Not more 45 dB A

E.
Not more 50 dB A

167. Name the maximum level of noise on the territory of hospitals (medical-preventive establishments) at day time.

A.
Not more 40 dB A

B.
Not more 35 dB A

C.
Not more 30 dB A

D.
Not more 45 dB A

E.
Not more 50 dB A

168. Which of listed premises is absent in infectious department?

A. Registry, dressing room 

B. Semi-box

C. Treatment room

D. Sanitary inspection room

E. Doctor’s room
169. How many beds should be in the standard ward section of the non infectious department of hospital?

A.
30

D. 25

B.
40 

E. 20

C. 50

170. Point the usual percentage of one (two)-bad wards in therapeutic department.

A.
20  %

D. 40 %

B.
10 %

E. 60 %

C.
30 %

171. Point the usual percentage of four-bad wards in therapeutic department.

A.
60  %

D. 40 %

B.
20 %

E. 60 %

C.
30 %
172. Name the minimum  area of isolation ward (box) for 2 beds in the infectious department.

A.
27 m2

D. 22 m2
B.
12 m2

E. 26 m2

С. 18 m2
173. What must be area of ward for 1 bed in neurological department for children?

A.
6 m2
B.
10 m2
С. 12 m2
D.
13 m2
E.
8 m2

174. What must be area of ward for 1 bed in the infectious department for children?

A.
7,0 m2

D.7,5 m2 

B.
6,5 m2

E. 8,0 m2

С 6,0 m2 .

175. What must be area of ward for 1 bed in the wards of intensive therapy for adults?

A.
13 m2

D. 10 m2
B.
7 m2

E. 14 m2

С. 12 m2
176. What must be area of ward for 1 bed in the radiological department or in the wards for patients with burns?

A.
10 m2
B.
15 m2
С 12 m2
D.
13 m2
E.
8 m2
177. Name the minimum area of isolation ward (box) for 1 bed in the infectious department.

A.
22 m2
B.
22 m2
С. 18 m2
D.
16 m2
E.
26 m2

178. Name the minimum  area for 1 bed in ward for children till one year.

A.
3 m2

D. 7 m2
B.
5 m2

E. 10 m2

С. 6 m2
179. What must be minimal area of consulting room in therapeutic department?

A.
10 m2
B.
8 m2
С 12 m2 .

D. 13 m2 

E. 15 m2

180. What must be area of operating room in neurosurgical department?

A.
42 m2
B.
27 m2
С. 38 m2
D.
12 m2
E.
34 m2

181. Name the calculated air temperature in the hospital wards of therapeutic department for adults.

A.20°C 


D. 21°C 

B.19°C 


E. 22°C
С.18°С 

182. Name the optimum air temperature in the hospital wards of children department.

A. 22°C 

D.18°C 

B. 19°C 

E. 21°C
С.20°С 

183. Point the optimum air temperature in wards for patients with thyreotoxicosis. 

A. 15°C 


D. 17°C

B.  21°C


E. 23°C

C.
19°C

184. Point the optimum air temperature in wards for patients with hypothyrosis.

A.
24oC


D. 25 oC
B.   20 oC 


E. 18 oC
C. 22 oC
185. Name the calculated air temperature in the newborn’s room.

A.25°C 

D.21°C 

B.19°C 

E. 22°C
С.20°С 

186. Point the optimum limits of air temperature in operating room. 

A. 22 – 24 °C 

B. 18 -20 °C

C.
15 – 17 °C

D.
20 - 22°C

E.
24 -26 °C
187. Point the optimum air temperature in consulting room of hospital. 

A. 22°C 

D. 15°C

B. 18°C

E. 24°C

C.
20°C

188. Name the maximum permissible level of relative humidity of air in the hospital wards.

A.
60 %

D. 50 %

B.
45 %

E. 70 %

C.
30 %

189. Name the maximum permissible level of velocity of air movement in the hospital wards.

A.
Not more 0,30 m/s 

B.
Not more 0,20 m/s
С. Not less 0,15 m/s

D.
Not more 0,15 m/s

E.
Not less 0,2 m/s

190. What side of horizon is not recommended for orientation of windows in operating room?

A.
West 

B.
North

C.
North - west

D.
North - east

E.
East
191. What side of horizon isn’t recommended for orientation of windows in wards for infectious patients?

A.
North 

B.
South

C.
North - west

D.
North - east

E.
East
192. What side of horizon is not recommended for orientation of windows in the wards of intensive therapy?

A.
West 


D.  East

B.
North - east 

E.  North

C.
North - west

193. Name the minimum general illumination with incandescent lamps in the hospital ward.

A.
400 lux

B.
300 lux

C.
100 lux

D.
150 lux
E. 250 lux
194. Name the minimum general illumination with luminescent types in the hospital ward.

A.
150 lux

B.
300 lux

C.
200 lux

D.
400 lux

E. 100 lux
195. Name the minimum general illumination with luminescent lamps in diagnostic laboratory.

A.
500 lux

B.
300 lux

C.
200 lux

D.
150 lux

E. 400 lux

196. Name the minimum coefficient of natural lighting in operating room of surgical department.

A.
2,0%

B.
2,5%

C.
1,5%

D.
1,5%

E.
1,0%

197. Clean zone of operating room doesn’t include:

A.
Room for narcosis 

B.
Protocol room 

C. Room for blood preparation

D. Room for equipment

E. Room for surgeons

198. Name the minimum coefficient of natural lighting in X-ray room.

A.
0,5 %

B.
3,0%

C.
2,0%

D.
1,5%

E.
1,0%

199. For assessment of epidemiological danger of air environment in the manipulation room it was taken sample of air for determination of air germ pollution. What microbe is sanitary indicative?

А: Str. haemoliticus 

B: Escherichia coli

C: Pseudomonas aeruginosae

D: St. aureus 

E: Clostridia

200. Name the maximum permissible concentration of microorganisms in air of operation room before work. 

A.
500/m3

D. 1000/m3
B.
200/m3

E. 1500/m3
C.
100/m3
201. Name the maximum permissible concentration of microorganisms in air of operation room after work. 

A.
   1000/m3

D. 1500/m3
B.
200/m3


E. 1500/m3
C.
100/m3
202. The factor which isn’t influencing radiosensitivity of bodies and tissues?

A. Acid-alkaline balance 

B. The content of water in tissues

C. Speed of plastic processes

D. Age-sexual features

E. Specific radiosensitivity

203. Kind of an ionizing radiation with the greatest ionizing ability is:

A. γ- radiation 

B. β- radiation

C. Neutron radiation

Dлллтлл. X-ray

E. Stream of electrons

204. The factor determining character and a degree of radiation injuries: 

A. Radiosensitivity of an organism

B. Natural background radiation

C. Social conditions of a life

D. Climate-geographical conditions

E. Kind of an ionizing radiation 

205. To which category do patients that get radiotherapy belong?

A. Category A

B. Category B

C. Category C

D. Category D

E. None of the listed

206. To which category does nurse (who works in laboratory contiguous with procedure room of X-ray cabinet) belong?

A. Category B
B. Category A
C. Category C
D. Category D
E. None of the listed

207*. What area from premises of X-ray room doesn’t satisfy hygienic norms?

A.  Consulting room  8 m2 
B. Treatment room 34 m2

C. Photographic laboratory  6 m2

D. Booth for preparation of barium solutions  4 m2

E. Cloakroom  2.5m2
208. Which functional zone of city areas isn’t provided by urban build-up in hot regions?

A. Hospital, entertaining zone, sport  zone, educational 

B. Industrial zone 

C. Traffic  zone

D. Residential zone

E. Waste collection and disposal zones
209. Name the minimal recommended thickness of the walls in the equatorial zone
A.
0.5 m

B.
0.3 m
C. 
0.7 m

D.
1  m

E.
1.2 m

210. Name the recommended orientation of windows in the equatorial zone.

A. Northward, Southward 

B. South-western

C. South-eastern

D. Western

E. North-eastern

211. Which percentage of heat exchange is performed by sweat evaporation in conditions of mild climate?

А. 15-18%

B. 10-15%

C. 1-6%

D. 20-30%

E. 30-45%
212. Which percentage of heat exchange is performed by radiation in conditions of mild climate?

А. 45-47 %

D. 20-30%

B. 10-15%

E. 1-6 %

C. 15-18%

213. Physiological water demands in tropical conditions is:

A. 5-12 liters per day

B. 2-3 liters per day

C. 1-2 liters per day

D. 3-5 liters per day

E. 10-15 liters per day

214. Name water supply norms for one person in conditions of hot climate 

A. 150-500 liters per day 

B. 3-5 liters per day

C. 5-12 liters per day

D. 50-100 liters per day

E. 1-3 liters per day

215. Which minimal water loss of body weight does cause temperature rise?

A. 6 %

D. 25 %

B. 12 %

E. 30 %
C. 15 %

216.Which minimal water loss of body weight does cause deafness and painful urination?

A. 11 %

D. 25 %

B. 18 %

E. 30 %
C. 6 %

217. Which minimal water loss of body weight does cause death?

A. 22 %

D. 25 %

B. 12 %

E. 30 %
C. 15 %

218. Main peculiarity of underground water using in arid areas:

A. High mineralization

B. Weak mineralization

C. Absence of organic pollution 

D. High content of iron 

E. High general hardness

219. Main peculiarity of rain water which collect for using in arid areas:

A. Weak mineralization 

B. High mineralization

C. High content of iron

D. Absence of organic pollution

E. High content of zink
220. What chemical reagent isn’t used for water chlorination in field conditions? 

А. Gaseous chlorine 

В. Chloride of lime

С. Sodium salt of isocyanuric acid

D. “Pantothenatecide” tablets

Е. Calcium hypochlorite

221. Which method isn’t used for disinfection of water in tropical regions? 

A. Treatment by aluminum sulfate, calcium sulfate, sodium chloride, X-ray irradiation 

B. Ozone-treatment

C. Treatment by calcium hypochloride

D. Ultraviolet irradiation

E. Treatment by “Halazone” tablets
Notes: Marked *questions are given as examples.  In test card it may be another data of measurements.
